| HRAE | seas | SRE AR AR PRI | R | By | B | S
1 601003 ANEK T =g 102 ALK — 2 2 0 0 0 2
2 601003 BT A = g 103 INAL KT 4 = 92 v 115 33 410 429 82
3 601003 ANEK T =g 104 ONHEIK T S DY S e 38 9 411 427 29
4 601003 ANEKTT S = rpeg 105 ANEKTT S N 2 0 0 2
5 601003 ALK A = i 106 BRI oS 5 2 415 417 3
6 601003 ANEK T =g 107 ANEKTT 2 2 1 422 422 1
7 601003 AR TS = g 108 ALK i 68 9 410 429 59
8 601003 ANEK T =g 109 NBEK T = ey 68 9 410 428 59
9 601003 INREK T = g 110 INREK TSPy 68 4 411 429 64
10 601003 ALK A = i 112 NI 6 5 410 424 1
11 601003 ANBLK T A =g 113 ANBLK TS+ )\ 1 0 0 0 1
12 601003 INREK TS = o 114 AN g 6 0 0 0 6
13 601003 INEEKTT S = 115 ANEKNTE g 6 1 410 410 5
14 601003 ALK =g 118 Ll XKV B A A AR 2 1 410 410 1
15 601003 INAE KT A = rp 2y 119 Pl X RV BUAR M 2 1 0 0 0 1
16 601003 ANBLK T A =g 120 Ly DR R BV v 27 1 1 410 410 0
17 601003 ALK T A = 122 Bl XK AR R 2A AR 1 0 0 0 1
18 601003 ALK =g 123 By X ORI R 2 1 0 0 0 1
19 601003 ALK =g 124 FNALAK T DX SR 2B 1L 22 2 0 0 0 2
20 601003 N KT A =2y 125 INALK T L DX R ZE R W v 2 2 0 0 0 2
21 601003 AY. wNITE =k 126 FNBEK TR L XV R FE A h 2F 2 0 0 0 2
22 601003 ALK T A = 130 INBLK T B 1 0 0 0 1
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23 601003 INELKTE 38 = rh 2 134 INEE KT8 L X AT H0 2242 2 0 0 0 2
24 601003 INELIKTE 38 = rh 2 137 INAE KT8 LU DX ROGE 22 A% 1 0 0 0 1
25 601003 INELKTE 38 = rh 2 144 By X AR R 3 S 2R AT 1 0 0 0 1
26 601003 SN KT =2z 148 Bl X VE R FEE AR 1 0 0 0 1
27 601003 INFEK B = Hha 151 i B i 1 0 0 0 1
28 601003 INTOKTT =2 152 B Kt 1 1 417 417 0
29 601003 INELIKTE 38 = rh 2 153 WIS 1 1 425 425 0
30 601003 ANTOKTT S =2 154 HH 2 AR 1 0 0 0 1
31 601003 SN AR =2z 156 PRI R 2 1 0 0 0 1
32 601003 INTEKTTsE =rh 2 157 L b s 1 0 0 0 1
33 601003 INTOKTT =2 158 X N Ty 7] 1 0 0 0 1
34 601003 ANTOKTT S =2 161 KRB AR R 22 5 2 420 421 3
35 601003 ANTOKTT =2 203 R iE gl e 1 0 0 0 1
36 601003 SN AKTT S =2z 204 INELKTT SR+ Iurh 2 1 0 0 0 1
37 601003 INTEKTT S =rp 2 205 INELKTTEE —+p 1 0 0 0 1
38 601003 INELKTE 3 =rh 2 212 R 1 0 0 0 1
39 601003 INELIKTE 38 = rh 2 214 PSR SR 2 1 0 0 0 1
40 601003 ANTOKTT =2 229 R R A rh 1 0 0 0 1
41 601003 INEKT S =rp 2 232 RAHAR] thaF 1 0 0 0 1
42 601003 INFEK B8 = Hha 233 YEZE S P g a4 1 0 0 0 1
43 601003 INELKTE 38 = rh 2 237 Wt 2 Watrh 2 1 0 0 0 1
44 601003 AN = o 238 W 2 H b 1 0 0 0 1
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45 601003 VAY NI ik 239 By ph 2 By phh 2 1 1 416 416 0
46 601003 ANBKTT S = rhag 241 S B R Horp o 6 6 416 453 0
47 601003 NBEKTT S =2 243 7 N gy e 2 1 0 0 0 1
48 601003 INEEKTT S = 244 Wn % Jedphs 1 0 0 0 1
49 601003 ANEKTT S = rhag 245 15137 % Nz b 2 1 0 0 0 1
50 601003 ANBKTT S =y 248 ok rp 5 0 0 0 5
51 601003 ANBKTT S =y 253 W I L e 2 1 0 0 0 1
52 601003 ALK =g 256 Widn 2 W3 h 2 1 0 0 0 1
53 601003 ANBEK T =2 263 W3 & SRR 1 0 0 0 1
54 601003 ANEKTT S =y 267 AR b A TS 5 1 424 424 4
55 601003 FNBEKTT S =2 270 INELKLL 1 S22 A 1 0 0 0 1
56 601003 NS =2 274 KA g 4 1 421 421 3
57 601003 AN =g 275 R 1 0 0 0 1
58 601003 ANBEK T = 301 FNERE X B A ERLS —rh 2% 1 0 0 0 1
59 601003 ANBEKTT S =g 306 | NI R E T SR AT U Z /N 1 0 0 0 1
60 601003 ANBEK TS = rh 2% 307 | FNEURRIX P € SR AT G % DU T IE N 1 0 0 0 1
61 601003 NBEKTT S =2t 308 PSR DR A L v 2% 1 0 0 0 1
62 601003 AN =g 309 IR DX T AT MR R 2 e 2% 1 0 0 0 1
63 601003 NBLKTT S =2 310 ISR DX T S A M AR T 2 N N 1 0 0 0 1
64 601003 NBEKTT S =2t 313 FNARE AR L 2 2 0 0 0 2
65 601003 ANBLK T A =g 314 INEERE DR 7 g rp 2 1 0 0 0 1
66 601003 NBEKTT S =2t 315 VAV LR [k & 1 0 0 0 1
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67 601003 INELKTE 38 = rh 2 317 INFERR X e g A — 2 1 1 414 414 0
68 601003 INELIKTE 38 = rh 2 318 INEERE X e g A e 1 0 0 0 1
69 601003 ANTOKTT S =2 319 INE R X A e T 1 1 425 425 0
70 601003 INELIKTE 38 = rp 2 321 INFREIX B3 2 h 2 1 0 0 0 1
71 601003 INTLIK T 38 = Hh 2 322 INFR X B & i 1 0 0 0 1
72 601003 VAT T T e 323 N X A7 37 B i R & vh 2 1 0 0 0 1
73 601003 NI KT B =2 324 NI X AR B iR B i 2 2 1 0 0 0 1
74 601003 INELKTE 38 = rh 2 325 N X B TR 2 1 0 0 0 1
75 601003 INELKTE 38 = rp 2 326 N X BT FE 2 1 0 0 0 1
76 601003 INTEKTTsE =rh 2 327 INF R X 2 i rh g 1 0 0 0 1
77 601003 NEKTE =g 329 NI X BE —rh A 2 0 0 0 2
78 601003 INELIKTE 38 = rh 2 330 INEREIX S =2z 5 0 0 0 5
79 601003 INBEKTI SR =2 331 ISR X B P rh 2 6 1 412 412 5
80 601003 INELKTE 38 = rp 2 332 ISR S T2 1 0 0 0 1
81 601003 INTEKTT S =rp 2 333 VAV & I Ra e 5 0 0 0 5
82 601003 INELKTE 3 =rh 2 334 INFERE X S - 2 1 0 0 0 1
83 601003 INELIKTE 38 = rh 2 335 INEE R X SR —rh 2 1 0 0 0 1
84 601003 INELKTE 38 = rh 2 404 BN B )\ 2 2 0 0 0 2
85 601003 INBEKTI SR =2 405 M 2F 1 0 0 0 1
86 601003 INEEAKTT S =2z 406 TN+ 2z (HIHED 1 0 0 0 1
87 601003 INELKTE 38 = rh 2 413 RN U= N e 9 1 0 0 0 1
88 601003 INELIKTE 38 = rh 2 422 R INIEAR SN =i 3 0 0 0 3
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89 601003 AY. wNITE =k 425 B T A S e 2 1 0 0 0 1
90 601003 AY wNITE 428 BN A B i b 272 2 0 0 0 2
91 601003 INEEKTT S = 429 BN A BUR IR 272 1 0 0 0 1
92 601003 FNBEKTTHE = rh 2 430 BN T A MR vh 2 1 0 0 0 1
93 601003 FNBEKTTHE = rh 2 440 BN T XS 37y PR Sy v 2 1 0 0 0 1
94 601003 AY W e I 441 AE N TS S PP ARLRA I v 2% 1 0 0 0 1
95 601003 IR AR = 2 442 BN TS PP A1 v 2% 1 0 0 0 1
96 601003 AN =2 451 ER) Ve G 1 1 417 417 0
97 601003 FNBEKTT S = rh 2 453 R NIPNIIL:SNIIEIES 1 0 0 0 1
98 601003 ANBKTT S = g 454 N A LA T e 2 1 0 0 0 1
99 601003 AY. wNITE =k 455 BT PR B IE 22 2 0 0 0 2
100 601003 NS =2 458 RN TR R B 2 1 0 0 0 1
101 601003 INEEKTT S = 459 RN TBT A 224 1 0 0 0 1
102 601003 FNBEKTT S = rh 2 463 BN TTIRYE & 2% 1 0 0 0 1
103 601003 INTEKTT S = 466 HEMIT 3 2 vhy 1 0 0 0 1
104 601003 AY. wNITE = 468 REINTTE ot 2 v 1 0 0 0 1
105 601003 AN =2 469 BN T E b % 2 2 0 0 0 2
106 601043 NBEKTITEE —seg g [ 101 AN Py 50 17 392 423 33
107 601043 INHEKTTER —SEg e [ 103 INBEAK T3S =52 rp 2% 48 3 397 405 45
108 601043 ANBKTT S —szg e [ 104 AT T 45 DY sz v 2 70 11 392 403 59
109 601043 INHEKTT S —sEge sy | 105 AY YNITE VA 2 1 411 411 1
110 601043 AR —sg s [ 106 ANEKATE s 5 5 394 411 0
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111 601043 NBOKTT R —sLg e [ 107 INBKTT S —rh 2% 1 0 0 0 1
112 601043 ANBKTTE —sg s [ 108 ANBEKTI | oy 55 25 393 411 30
113 601043 NBKTT R —sLg e [ 109 IR T = 2% 70 27 392 410 43
114 601043 INHKTTER —sEghae [ 110 NBEK TS DY rp g 70 18 392 411 52
115 601043 ANBKTT sz [ 112 ANBK B 7 7 396 408 0
116 601043 ANBOKT sz [ 114 ANBKTT S =g 12 3 397 407 9
117 601043 INHKTTES —sEg ey | 115 VA T iy pU L 8 2 396 401 6
118 601043 ANBOKTT R —sLg e [ 118 CHINENEL e it 2 8 8 392 411 0
119 601043 NEKTITEE s rpaE [ 119 Bl XK BUAR g vh 2 S 4 393 405 1
120 601043 NBOKTT R —seg e [ 120 B LXK RS 2 20 11 393 406 9
121 601043 BRI —sLg e [ 121 Bl X ORI RO 5 2 394 399 3
122 601043 NBOKTTH—seg ey [ 122 RSN 2 5 2 396 408 3
123 601043 NBOKTT R —seg ey [ 123 CAINESNTE:ONTIL 5 3 392 396 2
124 601043 BRI —sLg ey [ 124 INEEK T Bl 1Ly DX T 5K SR 1L 2 A 10 2 392 411 8
125 601043 ANBKTTH—sgae ey | 125 AN TR L X T R S80I % v 2 2 2 395 410 0
126 601043 BRI —sLg e [ 126 INEEAKTIT Bl X T R SR rh 2 1 1 401 401 0
127 601043 ANEKTT —seg iz [ 134 INELK T AT A2 AR 2 0 0 0 2
128 601043 BRI —seg ey [ 137 INBEK T Bl Ly DA RO 22 4% 1 0 0 0 1
129 601043 BRI —sLh ey [ 148 L XV R SRR 2 A% 1 1 403 403 0
130 601043 ANBKTT sz [ 151 g L g ep 2 1 392 392 1
131 601043 ANBOKT sz [ 162 R N M2 1 1 406 406 0
132 601043 AR —seg s [ 163 I 2 M 1 1 423 423 0
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133 601043 ANBOKT sz [ 161 AR L rpr o 6 1 406 406 5
134 601043 INHKTTEE —SEg ey | 204 ANEKH L 2 0 0 0 2
135 601043 ANBOKT sz s | 205 ANTKT e 1 0 0 0 1
136 601043 INHKTTER —SEg 2y | 206 (rSrE i 4 4 397 406 0
137 601043 INBKTTH—sL e [ 208 AT M 2 1 0 0 0 1
138 601043 NEKTTSE — s rpas [ 212 Ll e Ll i o 2 1 0 0 0 1
139 601043 ANBOKTT R —sLg e [ 214 TSR AL SR 2 1 0 0 0 1
140 601043 INHKTTES —SEg ey | 229 A 1 1 399 399 0
141 601043 INHEKTTER —SEg ey | 232 LAk e 1 0 0 0 1
142 601043 BRI —serpey [ 234 APREIA PR 1 0 0 0 1
143 601043 INEKTTSE — sz | 238 Witk 2 Btk 2 1 0 0 0 1
144 601043 INBKTT A —sLg e [ 241 REFUR Horh 1 0 0 0 1
145 601043 ANBUKTTH—Scrhoy | 254 W T R 1 0 0 0 1
146 601043 NEEKTTSE — sz | 256 Widn 2 W3 2 1 0 0 0 1
147 601043 ANEKT sz | 257 G AR 3 0 0 0 3
148 601043 BRI —sLg 2 [ 260 R EE SR 1 0 0 0 1
149 601043 BRI —seg e [ 267 A e AT S 1 1 409 409 0
150 601043 INHKTTES —SEg ey | 269 INTLIKL MR 2EAR 1 1 398 398 0
151 601043 INEEKTTSE — s rpas [ 301 IR IX BN —rh 2 1 0 0 0 1
152 601043 PNBKTTH —sEah 2 [ 303 | FSBUREIK H el g Ai e v ik % S —vh 2% 1 0 0 0 1
153 601043 ANBOKT sz [ 319 FSARE X L v 2% 1 0 0 0 1
154 601043 BRI —sLg e [ 329 AV L et I 1 0 0 0 1
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155 601043 INHKTT S —SEg ey | 330 INHRFIX 3 = 1 1 402 402 0
156 601043 NBKTITE —seg s [ 331 NP X A U 2 3 3 408 409 0
157 601043 NEKTTSE —seg s [ 332 NBCRE X T 1 0 0 0 1
158 601043 ANBOKTT S —szihrhag | 333 N X A L 2 1 396 396 1
159 601043 BRI —sehrpey [ 334 Ayt i 1 0 0 0 1
160 601043 INBKTT R —sEg e [ 401 BT R = 2% CRIha) 1 0 0 0 1
161 601043 BRI —sLg e [ 404 RN T8 )\ rpr 2 1 0 0 0 1
162 601043 ANBKTT A —sLg ey [ 411 AN T 0] a2 1 0 0 0 1
163 601043 BRI —sLi ey [ 422 RN AR STR LT 3 0 0 0 3
164 601043 BRI —sea ey [ 429 BN T A MR R 2 1 0 0 0 1
165 601043 BRI —sLg 2 [ 430 BN A A BB A 2 1 0 0 0 1
166 601043 PNBKTT A —sEg e [ 431 BN EE] g 1 0 0 0 1
167 601043 NEKTTSE — s as | 437 BN T PR AR HH 2 1 0 0 0 1
168 601043 INBKTT A —sLg e [ 441 Ak TS S PP ARLRA I v 2% 1 0 0 0 1
169 601043 INBKTTH—sLghrpey [ 452 M T WK 2 1 0 0 0 1
170 601043 BRI —sLg 2 [ 453 BT R R L p 2 1 0 0 0 1
171 601043 INTKTTHE —seg iz | 455 BN TP R BRI 27 1 0 0 0 1
172 601043 INBKTT R —sEg e [ 463 HNTTIRYE & hy 1 0 0 0 1
173 601043 INEEKTTSE — s as | 466 BT 2 1 0 0 0 1
174 601043 INBKTTH—sL e [ 469 TN ER L & oy 1 0 0 0 1
175 603001 ANHX 5 —rhag 301 NHEE IR B AR — v 2 36 14 301 353 22
176 603001 ISR S —rh A 303 | NHRIX SR E AT W R 2 A 15 8 301 313 7
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177 603001 N X B — 2 304 | SNBUREIX H IR S RATGE M i 2 5 b 2 5 4 299 316 1
178 603001 PSRRI S — 2z 305 TN X P G T i SR A K i 2 A 3 2 304 307 1
179 603001 INFRFIX S — 2z 306 NI R DX P JE B R IGAT O 2 BN 4 0 0 0 4
180 603001 ISR S — 2z 307 | SNHSUREIX A S T SR AT MR 2 DU T N 6 6 302 317 0
181 603001 ISR S — 2z 308 N DX S ] 4 2 6 6 304 317 0
182 603001 INFE R X S —rh 2 309 TN X Y A AR iR IR 2 R 2 13 6 300 307 7
183 603001 PSRRI S — 2z 310 TN X Y& AR R 2 9 2 /N2 8 0 0 0 8
184 603001 INBREIX S — 2z 311 INEERE X R R A — e 6 6 308 332 0
185 603001 INF R X B —rh 2 313 IR XA B 2 30 8 298 317 22
186 603001 INF R X B —rh g 314 INHEF X T 22 16 300 316 6
187 603001 N X B — 2 315 INFRF G 2SS /N 10 4 304 314 6
188 603001 ISR X B —rh 2 317 INTRE X e 8 — R 2 15 2 313 313 13
189 603001 INFRFIX S — 2z 318 INEERE X e R A e 6 2 316 316 4
190 603001 INF R X B —rh 2 319 INH R X A e T 2 48 34 298 317 14
191 603001 INF R X B —rh 2 321 X B & 20 13 299 327 7
192 603001 NI X S —rh 2 322 INFER X B3 & B 7 4 300 309 3
193 603001 PSRRI S — 2z 323 N X A 35 i SRR & vh 2 15 10 298 346 5
194 603001 INFRFIX S — 2z 324 N DX AR B R R i 2 h 2 20 22 298 317 -2
195 603001 INF R X B —rh 2 325 INFURR X T 2 30 25 298 317 5
196 603001 ISR X B —rh 2 326 ISR X e T 19 16 298 317 3
197 603001 INFRE X 2 — 2 327 INFRE X = i rh 2 17 5 303 314 12
198 603001 INF R X B —rh 2 328 IR DX S v 2 20 9 298 349 11
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199 603001 INFRE X 2E— 2 329 NI X BE —rh A 20 9 302 344 11
200 603001 INF R X B —rh 2 330 TN X 5 = Hha 28 28 302 317 0
201 603001 INF R X B —rh 2 331 ISR X B Y rh 2 33 19 298 392 14
202 603001 INA R X B —rh 2 332 ISR X B L 2 32 14 298 317 18
203 603001 INF R X B —rh 2 333 INA R X SR L A 38 30 298 341 8
204 603001 INFRE X 2 — 2 334 INFRE X B - rh A 20 13 299 376 7
205 603001 INF R X B —rh 2 335 INFRE X S — g 18 12 300 316 6
206 603001 INF R X B —rh 2 336 INFEBHYG 2R 12 12 303 316 0
207 603001 INF R X B —rh 2 337 FNA R X 4 g ch 2 10 5 298 312 5
208 603001 ISR S — 2z 338 N X LR S A 8 9 303 316 -1
209 603002 INTOKTTEE —vp 2 101 INTLKTH SR — T PYrp 2z 2 0 0 0 2
210 603002 INELRTTES o 108 ANFOKT B+ 2 0 0 0 2
211 603002 INELRKTTES ot 109 ANEOKT B+ = 2 0 0 0 2
212 603002 INELKTE 28 —rp 2 110 INELK T R+ rp 2 5 0 0 0 5
213 603002 INTEK T o —rh g 301 ISR X B AN SR —h 16 8 390 407 8
214 603002 INELKTE S8 —rp 2 303 | NBUREX H IR SR AT KGR W i 2 S —rh 2 3 2 394 407 1
215 603002 INELKTE S —rp 2 304 | SNEURREIX H Sei SIRA K R TR 2 5 Hh ez 3 1 390 390 2
216 603002 INELKTE 28 —rp 2 305 N X P G T i SR A K i 2 A 3 0 0 0 3
217 603002 INELKTE 28 —rp 2 306 N DX P JE B R AT R 2 BN 3 0 0 0 3
218 603002 INEEKTT S 2z 307 | SNASUREIX A S T SR AT R 2 DY T N 3 3 398 403 0
219 603002 INELKTE S8 —rp 2 308 INH R DX SRl 2 3 3 392 398 0
220 603002 INELKTE 38 —rp 2 309 TN X Y& A AR iR R 2 Rk 2 4 2 389 404 2
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221 603002 INELKTE S8 —rp 2 310 TN X Y AT KRR 2 ol 2 /N2 3 0 0 0 3
222 603002 INTOKTEE —vp g 311 INFRE X K S — 2 3 3 390 406 0
223 603002 INTOKTTEE —vp g 313 IR XA B 2 26 23 388 407 3
224 603002 INBOKTTEE —vp 2 314 INHE X s 4 3 389 397 1
225 603002 INEEKTT S 2z 315 ISR T A /N 3 0 0 0 3
226 603002 INTOKTTEE —vp 2 317 INFRE X e FE S — 2 3 3 402 407 0
227 603002 INTOKTEE —vp g 318 INFRE X e F8 S 2 3 3 393 407 0
228 603002 INTOKTTEE —vp g 319 INE R X A e T 50 27 388 407 23
229 603002 INBOKTTEE —vp 2 321 X i 2 e 14 9 388 407 5
230 603002 INTEKTToE —rh 2 322 INTRE X Y & MR dh 2 3 1 388 388 2
231 603002 INELKTE S8 —rp 2 323 N X A 37 B i R & vh 2 3 0 0 0 3
232 603002 INELKTE 38 —rp 2 324 N DX AR B iR B i 2 2 6 6 395 407 0
233 603002 INTOKTTEE —vp g 325 IR X T T 13 8 391 407 5
234 603002 INBOKTTEE —vp 2 326 ISR X e T 5 5 394 406 0
235 603002 INTEK T o —rh g 327 TN X 25 5% Hh 2 3 3 397 406 0
236 603002 INTOKTTEE —vp 2 328 INFRE X sk oh 2~ 5 3 394 402 2
237 603002 INTOKTEE —vp g 329 INF X B b 143 35 388 406 108
238 603002 INELKTE 28 —rp 2 330 TN X 58 = Hha 91 54 389 407 37
239 603002 INBOKTTEE —vp 2 331 ISR X B P Hh 2 90 42 388 422 48
240 603002 INTEKTToE —rh 2 332 ISR X B T A 60 24 389 406 36
241 603002 INTOKTTEE —vp 2 333 INFREX BE L h A 82 36 388 407 46
242 603002 INTKTEE —vp g 334 INF X SR rh e 3 3 395 406 0
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243 603002 ANBKTT S g 335 ANHEE X 55— 2 7 5 393 401 2
244 603002 ANBKTT S ey 336 Ay dp e 2 8 5 391 404 3
245 603002 AN 337 N X A4 2% 12 3 392 395 9
246 603002 ALK g 338 PRI X R S A 3 1 388 388 2
247 603002 ANEKTTE g 404 HEMITIERS J\rh 2y 2 0 0 0 2
248 603002 ALK g 426 BT OB 42 3 0 0 0 3
249 604001 BN T8 —rp 2 108 INEK T+ 2 0 0 0 2
250 604001 MR —rh2 109 VAN v ST e et 2 0 0 0 2
251 604001 BN T8 —rp 2 110 INBEK TR+ DU 15 0 0 0 15
252 604001 BN TS —rp 2 269 VA WA i 217 1 0 0 0 1
253 604001 BN T8 —rhoy 333 ANHE X A5 L2 2 0 0 0 2
254 604001 LN T — v 2 401 BN = (1D 62 10 371 390 52
255 604001 LN T — 2 402 BN TP (FIh D 1 1 390 390 0
256 604001 e TR —rh 2 403 RN A L) 3 0 0 0 3
257 604001 BT S —rp 2 404 HEMITIERS J\rh 2y 128 10 373 387 118
258 604001 BN T8 —rp 2 405 BN TS A 2 22 4 374 387 18
259 604001 M TR —rha 406 BN —rh 2 (I 2 0 0 0 2
260 604001 BT S —rh 2 407 BN+ e (D 2 1 378 378 1
261 604001 e TR —rh 2 410 LM+ =2 2 0 0 0 2
262 604001 TN Es—rprog 411 AN TS0 e 2 7 1 374 374 6
263 604001 BN TS 2 413 AL T ) B i A S 2 A 2 0 0 0 2
264 604001 BT —rh 417 AL T P TR T8 T e 2 2 1 384 384 1
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265 604001 BN TS 2 420 BT 40 BT I V0 b vh 2% 7 1 377 377 6
266 604001 BN 8 —rp 2 422 AN TIT LT SRk B 2 A 2 2 388 389 0
267 604001 BN S —rh 2 423 5N T ARG FE BT SR 2 37 6 375 388 31
268 604001 BN T8 —rp 2 424 N TR S 2 10 4 382 390 6
269 604001 W8 —rp 2 425 TS PH T A LA 14 3 373 381 11
270 604001 BN 8 —rp 2 426 SN T B ST rh 2 42 14 371 389 28
271 604001 BT —rh 427 BT B SRR p 2 6 1 383 383 5
272 604001 MR —rh2 428 BN T AU My 27 3 3 378 387 0
273 604001 BN T8 —rp 2 429 BN T A B LR R 2 4 1 389 389 3
274 604001 BN T 2 430 BN T A MR Hp 2 4 0 0 0 4
275 604001 LN T3 — v 2 431 BN Tk et 12 4 371 381 8
276 604001 BN T — 2 432 BN T R AR 2 1 0 0 0 1
277 604001 BT S —rh 2 434 BE N T ER AR A 2 A 1 1 376 376 0
278 604001 BN 2 437 A5 PH T 4 AR T e 24 0 0 0 24
279 604001 BN 5 —rh2 440 N T RS S B RAS Jy b v 2 8 1 383 383 7
280 604001 BN TS 2 441 A8 PN TV R 3 FPARLRA ] v 2 9 0 0 0 9
281 604001 M TR —rha 442 TS TH S B BRI A v o 4 2 371 384 2
282 604001 BN T2y 444 PG i 2l 2 A 40 28 373 390 12
283 604001 BN A rpog 446 BN T IDR A5 B 2 0 0 0 2
284 604001 EERANIE P 449 T e R g i 2% 1 0 0 0 1
285 604001 LN T3 — v 2 451 BT R g2 15 5 373 390 10
286 604001 BT S —rh 2 452 5PN TIT i K 2 11 8 371 390 3
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287 604001 BN TR —rh 453 L NIpNIILNITIEIES 8 6 372 385 2
288 604001 LN T — v 2 454 BN R I e 2 4 3 384 388 1
289 604001 LN T — 2 455 BN T FHE UK 2% 18 3 372 390 15
290 604001 BN TS — v 2 456 BN TP B B h 2 7 4 371 390 3
291 604001 BN T o 2 457 BN T SR 2% 1 1 384 384 0
292 604001 BN T o2 458 LN T R 2 5 1 379 379 4
293 604001 BT —rh 459 BT T IS A 244 3 2 374 384 1
294 604001 MR —rh2 463 FEMITINE 2 Hh 2 3 0 0 0 3
295 604001 BN T3 — v 2 464 BN & rhag 4 1 385 385 3
296 604001 BN TR —rh 465 T IHE & 2 3 0 0 0 3
297 604001 LN T3 — v 2 466 BN 2 hag 16 3 372 389 13
298 604001 LN T — v 2 467 BN RIE & rhag 2 1 390 390 1
299 604001 LN T — 2 468 N & rhag 6 2 380 384 4
300 604001 BN T 3 — v 2 469 BN TR & vh g 8 3 377 386 5
301 604002 EERL NI L 102 ANBEK TS 2 0 0 0 2
302 604002 LN T v 2 103 INBEKTIT SR = se it b2y 7 1 411 411 6
303 604002 BN T o 2 104 PNAL KT A DY S 8 1 395 395 7
304 604002 RN NI L 108 ANBEKTT A+ 18 2 395 398 16
305 604002 BN T v 2 109 ANBEKTT A = 18 0 0 0 18
306 604002 BN T 2 110 AN DY 2 20 5 408 413 15
307 604002 BN T8 2y 113 ANBKTT | )\ 2 1 0 0 0 1
308 604002 LN TS e 2 114 KT oy 3 0 0 0 3
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309 604002 LN T v 2 115 ANBEKTTEE Z g 1 0 0 0 1
310 604002 REINTI S 2 118 Bl DXORTS BSEAR AR 1 0 0 0 1
311 604002 RENT S —rh 2 122 Ly DXL R4 1 0 0 0 1
312 604002 BEMNTT S 2 128 Bl XA G2 AR 1 0 0 0 1
313 604002 BN T 2 141 VAY W | N 1 2 513 1 0 0 0 1
314 604002 BN T A —rprog 205 NBKT S e 2 0 0 0 2
315 604002 BN T 2 214 S AL o 2 1 0 0 0 1
316 604002 BN EE —rha 239 Wy & Bppprh 2 1 1 435 435 0
317 604002 BENTT S 2 241 R A Horh 2 0 0 0 2
318 604002 W8 246 R Sl 1 0 0 0 1
319 604002 RN T8 —rhey 248 K B 2 1 0 0 0 1
320 604002 M AR —rha 258 PN\ rh 2 1 0 0 0 1
321 604002 M EE —rh 269 VAN Wi CAR =2 073 3 2 398 412 1
322 604002 BN 2y 273 ALK A E T S 2 A 1 1 402 402 0
323 604002 LN T o 2 274 R EARE 1 0 0 0 1
324 604002 RN T8 —rhey 329 ANHEX A5 g 2 0 0 0 2
325 604002 RN AR —rh 330 VAY > & i h e s 3 0 0 0 3
326 604002 RN NI L 331 ISR S5 P 2 1 0 0 0 1
327 604002 BN TS ey 333 INHERR A5 L2 1 0 0 0 1
328 604002 EERL NI L 2 401 BN = (FIh D 64 3 402 410 61
329 604002 LN T 2 402 FNTTEE T 2% CHIREDD 3 1 408 408 2
330 604002 BN T 2 403 BN N2 (1D 4 0 0 0 4
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| HRAE | seas | SRE VR R AR PRI | Bk | B | Eeeis | SR
331 604002 BEMN TS 2 404 REMITIES J\rh 2y 138 9 396 411 129
332 604002 RN ES —rpey 405 G RN e 31 3 405 412 28
333 604002 RN Es —rhey 406 BT+ —rh % FIhED 2 0 0 0 2
334 604002 BEMNTT S 2 407 BT+ e (D 2 0 0 2
335 604002 RENTI S 2 410 BT+ = 2 2 404 412 0
336 604002 RN T8 —rpa 411 AT By A v 2% 8 0 0 0 8
337 604002 BN T B —rpoy 413 EERM IDAINE SR s 2 1 0 0 0 1
338 604002 RENTT S —rh 2 415 A8 T ok B A 1 v 2 1 0 0 0 1
339 604002 RN T8 —rpo 417 280 M 1 4 YR 47 3 7 3 v 2 2 0 0 0 2
340 604002 BN T8 —rp2: 418 FNBEKA AL 12 1 405 405 11
341 604002 RN T8 —rp2 420 M7 40 BT I V0 b vh 2% 3 0 0 0 3
342 604002 A RALNIE P L 421 R NITEAR. P52 1 0 0 0 1
343 604002 RN T8 —rhoy: 422 RN AR SURL T i 2 0 0 0 2
344 604002 e T EE —rp 423 RN TR A B R 2 29 1 412 412 28
345 604002 W8 424 5 PH T AT Ak 12 1 410 410 11
346 604002 BN 8 —rp 425 A A ST p 2 29 2 399 413 27
347 604002 HEIN T B —rpoy 426 N T B AR T R 42 6 395 412 36
348 604002 RN T8 —rhoy 427 3N T B AT T 2 4 0 0 0 4
349 604002 RN T8 —rpra 428 BN T A MR A P 2 2 0 0 0 2
350 604002 RENTI S 2 429 BN T A B BUR R 2 5 1 414 414 4
351 604002 BEM T AR —rh 430 RN A B A o 2 5 1 399 399 4
352 604002 BT AR —rp 431 BT EE) e 6 1 412 412 5

55 16 50,38 20 17T



R | SRR | R T %ﬁ}ig VR R AR PRI | R | By | B | S
353 604002 BN 2 432 SN T AT i R AR rh 2 1 0 0 0 1
354 604002 REINTI S 2 433 BN TP+ A 1 0 0 0 1
355 604002 BN T8 oy 434 AN T BRZR i 2 A 2 1 410 410 1
356 604002 BN T v 2 436 BN 2 G RPE2AAE 1 1 410 410 0
357 604002 BTS2 437 A5 N T {5 P P o 2 19 0 0 0 19
358 604002 REINT S 2 438 BN TR B X 2 1 0 0 0 1
359 604002 BTS2 440 B M T X 3 FPARAS 3 B rp 2 7 3 401 412 4
360 604002 WM EE 2 441 T TS 7y B ] T 25 8 1 414 414 7
361 604002 BN T v 2 442 I8N T R4 FPARLN A v 2 3 1 405 405 2
362 604002 BEMTTEE 2 443 TSN T SR G o v 2 1 0 0 0 1
363 604002 LN T v 2 444 TP Yo 2 i 2 A 4 0 0 0 4
364 604002 M AR —rha 446 BT AT B 4 3 397 403 1
365 604002 WM EE 2 448 TN T LRV DBt 9 4 400 409 5
366 604002 LN T v 2 449 BN T LR v 2 1 1 412 412 0
367 604002 BEMNTTEE 2 450 BN T S Db 2 1 0 0 0 1
368 604002 LN T v 2 451 BN T R E R 2% 4 3 400 414 1
369 604002 LN TS e 2 452 N T R K g 2 22 1 397 397 21
370 604002 RENT S —rh 2 453 R TN NI 1 0 0 0 1
371 604002 REINTI S —rh 2 454 BT R L k2 7 0 0 0 7
372 604002 BTS2 455 N T S Ak O o 2 8 2 397 410 6
373 604002 BEM T AR —rh 456 BN T PR BUR B A 6 2 397 412 4
374 604002 BEN TS 2 457 RN T 5 SR 2 1 0 0 0 1
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375 604002 RN T AR —rh 458 5 TR R 2 3 2 406 410 1
376 604002 RN ES —rpey 459 BN B RS 241 2 1 395 395 1
377 604002 RN Es —rhey 463 TMTTIRYE & hey 3 1 397 397 2
378 604002 BEMNTT S 2 464 REINTITE H 2 v 3 2 403 406 1
379 604002 BN T 2 465 BN IRE 2 hg 3 1 413 413 2
380 604002 BN T v 466 BN B3 & hey 4 2 400 412 2
381 604002 BT AR —rp 467 BRI T RIE 2 2 2 0 0 0 2
382 604002 EARALNIE P L 468 BT & rpoy 2 2 406 408 0
383 604002 BN 8 —rp2 469 BN TTEEH & vh 2y 3 0 0 0 3
384 604007 BN TS 401 BN = (FIh D 40 24 331 350 16
385 604007 BN TSR 2 402 BNTTEE TR 2% CHIRED) 2 2 337 340 0
386 604007 RENTT S 2 403 BTS2 (P 11 4 334 342 7
387 604007 BN -brp oy 404 RN T8 )\ 2 100 23 331 349 77
388 604007 BN -Erpoy 405 BN T8+ rproye 45 23 332 395 22
389 604007 BN TS 406 BT —rh 2% (I 16 4 331 339 12
390 604007 BN TSR 2 407 BN b2 b 4 3 333 349 1
391 604007 BN TS 2 411 AN T 0] 1 2 9 5 332 349 4
392 604007 BN -brpoy 413 TN T X B T S0 A AR 1 1 348 348 0
393 604007 BN -Erpoy 415 BN T B4k 1 2 3 3 333 340 0
394 604007 EER NN R el i 417 J5 M T P I A T ] v 2 ) 3 343 350 2
395 604007 BN TSR 2 420 M7 40 BT V0 b vh 2% 11 3 331 345 8
396 604007 RENTT S 2 421 RENTIT LR 1 1 350 350 0
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397 604007 MRy 422 L NIEAR SIS g 7 3 334 341 4
398 604007 MR by 423 BN T AL SRR S 2 26 7 332 347 19
399 604007 M-t 2 424 M T AL SR v 15 8 333 381 7
400 604007 BN TS 2 425 BN TR A 2 24 19 331 349 5
401 604007 BN TS 2 426 BN S BT 2 25 22 331 350 3
402 604007 BENT S L2 427 BN T B OS2 9 6 336 344 3
403 604007 MRSy 428 HEMITT A A M 2 8 2 337 344 6
404 604007 BT b 429 LM A MEUR R 27 13 6 331 341 7
405 604007 BT b 2 430 BT A P EURT T 27 10 2 341 342 8
406 604007 M -Erpay 431 TEMTIPTIREE ] 2% 10 8 331 348 2
407 604007 PTG 432 BN T AT ER AR v 2 5 1 344 344 4
408 604007 MRSy 433 RN T BT B AR 1 0 0 0 1
409 604007 BN TS 2 434 WM TR AR A 2 A 1 1 349 349 0
410 604007 BN TS 2 436 BEMTTET KPR 1 1 343 343 0
411 604007 BN TS 2 437 T T FEV L P o 2 20 12 335 350 8
412 604007 BN L2 438 BT OR FH LG S 2 3 0 0 0 3
413 604007 MR G rh 440 T T X 37 P A 37 B o 2 15 15 331 349 0
414 604007 BN TS 2 441 T T 3 B ] T 2 21 15 332 350 6
415 604007 BN TS 2 442 N T 7 B T 2 4 5 342 349 -1
416 604007 M Erpay 443 T T X RS 1 e e 2 1 0 0 0 1
417 604007 BT L 2 444 T o 2 2 6 6 346 386 0
418 604007 MR by 446 RIS B 1 1 342 342 0
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419 604007 BN L2 448 FEE T OUURVEEDRE 941 27 4% 6 6 345 350 0
420 604007 RENTT A2 449 AT g A 0 i 2 5 4 337 349 1
421 604007 BT S L2 450 BT o e 3 h 2 7 1 335 335 6
422 604007 BTS2 451 RENTT R B 2 9 5 334 348 4
423 604007 BN T8 -Lrp 2y 452 T T WK 2 22 16 332 350 6
424 604007 BENT S L2 453 RN IPNII ONITEEES 7 4 334 340 3
425 604007 RENTT S 2 454 RN R BT kb A 9 1 331 331 8
426 604007 RN Rl 455 BN T PR BUK P 2% 12 12 333 350 0
427 604007 BTS2 456 BT PR BUR B2 9 4 335 349 5
428 604007 PTG rh 457 LT B S 2 8 1 331 331 7
429 604007 BN 2 458 5 TR R 2 11 12 334 350 -1
430 604007 RENTT S 2 459 BB R A 24 8 6 332 350 2
431 604007 RIS 463 BNTTIRYE & hey 10 7 332 349 3
432 604007 BTS2 464 REINTITE H 2 v 5 1 338 338 4
433 604007 PTG rh 465 LM IHE 2 vhy 9 3 335 346 6
434 604007 BN L2 466 BEMITH B3 % vhog 20 7 331 347 13
435 604007 RENTT S 2 467 RN R EE 2 Hh 2 3 3 335 339 0
436 604007 RIS 468 BTy & g 13 11 331 350 2
437 604007 RN Rt 469 BEMTT I & rh 2 3 3 344 349 0
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